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#include <stdio.h>

int F(int X, inty) {
intc=17;
intd = c%3;
for(inti=1;i<=vy; i++) {
d=c*(x-i1+1)/1i;
¥

return d;
¥
int main() {
int h=8;
for (inta = h%5+2; a >3; a--) {
for (intn=0;n<=a; n+t+) {
printf("%d", F(a, n));

¥
printf("\n");
¥
return O;

}
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#include <stdio.h>
void getMatrixElements(int matrix[][10], int row, int column) {
inti,j;

printf("\nEnter elements: \n");

for (1=0;1<row; ++i) {
for (j = 0; j < column; ++j) {
printf("Enter a%d%d: ", i1+ 1, j + 1);
scanf("%d", &matrix[i][j]);

by
¥

}

void calMatrices(int first[][10],
int second[][10],
int result[][10],
intrl, intcl, intr2, intc2) {

inti,j,k;

for (I=0;1<rl; ++i){
for (j =0; j < c2; ++j) {
result[i][j] = 0;

}

for 1=0;1<rl; ++i) {
for (j =0;j<c2; ++j){
for (k =0; k<cl; ++k) {
result[i][j] += first[i][K] * second[K][j];
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void display(int result[][10], int row, int column) {
inti,j;
printf("\nOutput Matrix:\n");
for (1= 0; 1 <row; ++i) {
for (j =0; j <column; ++j) {
printf("%d ", result[i][j]);
if (j ==column -1)
printf("\n");

}
¥

int main() {
int first[5][5], second[5][5], result[5][5], r1=2, c1=2, r2=2, c2=2;

getMatrixElements(first, r1, cl);
getMatrixElements(second, r2, c2);
calMatrices(first, second, result, r1, c1, r2, c2);
display(result, r1, c2);

return O;
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#include <stdio.h>
struct EmpAddress
{
char *ename;
char stname[20];
int pincode;
Yemployeel={"John Alter","Court Street",654134} *ptl=&employeel;

int main()

{
struct EmpAddress employee2 = {"Bob Hard","First Street",462524},
employee3 = {"Draven Green","Darkest Street",883126};
struct EmpAddress *pt2, *pt3;

pt2=&employee2;
pt3=&employees;

pt2-> ename = ptl->ename;
pt2->pincode =315948;

ptl = pt2;
strcpy(pt3->stname,”Love Street™);
ptl->ename = pt3->ename;

printf(" %s from %s, pincode:%d \n\n", ptl->ename,(*ptl).stname,
ptl->pincode);
printf(" %s from %s, pincode:%d \n\n", pt2->ename,(*pt2).stname,
pt2->pincode);
printf(" %s from %s, pincode:%d \n\n", pt3->ename,(*pt3).stname,
pt3->pincode);

return O;
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#include <stdio.h>
int main() {
int n, rN = 0, remainder, originalN,flag = 0,num=0,i;
printf("Enter an integer: ");
scanf("%d", &n);
originalN = n;
while (n1=0) {
remainder =n % 10;
rN =rN * 10 + remainder;
n/=10;
num++;

}
if (originalN ==rN){
printf("True\n");
flag = 1;
}
else{
printf("False\n");
flag = 0;
}
n = originalN;
N =0;
num = num * 2;
if(flag==1){
while(n!'=0){
remainder = n % 10;
rN = rN + remainder;
printf("%d\n",rN);
n/=10;
}
}
else
printf("%d\n",rN);
return O;



